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COMPUTER SCIENCE ENGINEERING. l
i (50 X 1 = 50)
(Each question carrics onc mark}

Whit is Ui-ucmﬂinnhlyul' the powerset of the | 6. The average. search time of hashing with

setin, b, e, di? ' linear probing will be less if the load factor is:
a, 4 L 16 8. Edqual toone
c 8 i 12 h Ias l‘nrlmthnnunu

e Is ['m: greater than one
If p ! The sun has sct d None of the above

q : The moon has risen
then symbolically Lhe stntement, “the sun | 7 Sparse matrices have

has not set” or "the moon has not risen” is é: High mﬂmmﬂ
written as
: 3 h Many non zero entries
" — : ) o
% png v o. Many zero entries
& PAA d =pv=—q d None of the above

Boolean algebra s different from ordinary | 8. 1f we use merge sord to sort an array with ‘n’

-algebra in which way? elements, what is the worst case tine
n. They are actially the same required 1o sart?
b Boalean algebra can describe upto 3 levels a. .0 (log o) b Qfnd
of logic levels ¢ ©O(n log n) d Qfn)
¢.. Boolean-algebra have only two discrete
levels 0 and |

9. Which of the following algorithms iz not s
< Boolean algebra can represent more than greedy algorithm ?
1 discrete levels between O and 1

a. Dijkstra’s algorithm
L Prims algorithm
[~an(Pog))o-P s . Kruskal algorithm
n. Centradiction h  Tautology ¢ Heapson
¢. Contingency d. Invalid

10. Stack carmot be used to

u; Mlﬂ 4 : = b d ;) -,
If Ais any aet, then tating resources and acheduling

. b Reversing string
n AUs'=g b ANA'=T :

c. lmplementation of recursion

c. AUa'=U0 d  None of the ibove d Evalualion of expression in port fix form
Bpace For Rough Work
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11. Whatia the worst case time complexity of a | 16. The private work space dedicated to a
sequence of n multidequeue () operations subroutine is called as
on an initially empty que.ur. a, Heap b Reserve space
a. 8(n) b @(n+k) c. Stnck d Node
3
e O{nk) d aw’) 17. Consider the following dequerice of
micro-operations
12.. Which of these is not a type of fragmentation MBEe-PC
i, ' MAR X'
a. Code fragmentation .
: i : PC+Y
b External fragmentation e
e i Memary ¢+ MBR
¢. Data iragmentation
; e g Which one of the following iz a possible
¢ Internal fragmentation operation petformed by this sequence
4. Canditionsl branch
13.  SCSI stands for b Initiation of the interrupt service
a. Small Component System Interface e.. Operand feich
‘b Small Computer System Interface d. Instruction Jetch
c. Small Computer Signal Interface _ _ _
d ‘Srall Component Signal Interface 18.  Which of the following statements is true?
a. I a languages is context frec it can
always be acéepled by a deterministic
14. The complele set of only those Logic gates push - down automation
dcm_gna_tu_ﬂ a5 ‘_I.im"ﬁ_l_-:fgﬂl gates s h The union of two context free languages
@. NOT, OR and AND gites is context [ree |
b NORand NAND gates' e, The intersection of two context free
_ languages is context free
o. XOR, NQRanl:l “ANH.‘.EE““' d The complement of & context free
d XNOR. NOR and NAND gates: languages is context free
15 Increasing the RAM of a computer typically | 19- The PDA is called non-deterministic PDA
" , s edges from which staete ?
: t Ls 1 v
a: Virtual memory increases a. STARTor KEAD
b Fewer segmentation faulis occur b POPar REJECT
c. Lorger RAM'S are faster ¢, READ or PO
d. Fewer page faults occur d PUSHor POP
Space For Rough Work
|
|
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20. Let w be any string of length n in |0,1}. Let | 26. Type checking is normally done during?.
L be the set of all substrings of w. What . R
is the minimum number of states in a A Heskal annlys
non deterministic finite antomation that b Syntax analysis.
accepts L 2 -
A et Yoo ¢ Syntax directed translation
c. n+l d Z2n-1 d. Code generation
21. Which of the following is true? . RS i et
a. Every subset of a regular set is regular ) _ resaives contlicts of type.
b Every finite subset of a non regular get is: a. Reduce - Reduce b Shift - Reduce
regular c. Shift - Shift d aand b
-¢. The union of two non- regular sets is not
regular
d. Infinite union of finite scts is regular 28. Piece of code that only one thread can execute
ata time is called
22. The smallest finite automation which a. Synchronization
3;?;%11: I:‘l:;}.l::ﬁuagz {xflength of x iy b Mutual exchision
‘8. 2 states ok 3 statea c. Critical zection
¢ 4 states d. 3 siares d. Al of the above
23. Bottom up passing i ' :
b uF_' pedsg hnlves 29, A page fanlt occurs when
a. Shift reduce
h Mandle pressuring a. The dead lock happens
c. Operatar check b The segmentation staris
d aand b ¢. The page is found in the memory
d The page is not found in the memory
24. Which of the following system software
resides in main momory always?
B ‘Fext editor b, Assembler 30, InRound Robin CPU scheduling as the time
quantum s increased, the average {turn
c. Linker d  Londer around time
8. Increasecs
25. Which of the lollawing software tool ia & :
passer generator? b decreases
m lex b YACC ¢. Remains constant
r.;: Bothad& b d.  Nencof the above & Virids irreguiariy
Space For Rough Work
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31. To avoid the race condition, the number of | 36, If every non-prime attribute of R is
Processes that may be simultaneously inside non-transitively dependent on every super
their critical section is key of R then Lhat table is in
a. 8 b 1 a. INF b. 2NF
c. 16 d 0 c, 3NF d 4NF

32. In which ene ef the following page | 37. A composite attribute is converted to
replacement policies, Belady's anamoly may individual attributes in which normal from?

r?
oret 8 First h  Second
a. FIFQ b Optimal e 5 i
<.
c. LRU d MRU o
. b s . 38. A type of query that is placed within
33, The program which interacts with the inner % Srehnnies o y
Fﬁ.rt of the Hemel is ealled a "WHERE" or "HAVING" clause of another
- query is ealled
-a, Compiler b Shell " &
a. Super que . Subqu
¢. Device driver d  Protacol A T
c.  fquery d  Master query

34. Given the basic ER and relational models,
which of the following is INCORRECT? 39. Functional dependencics are the types of
& Anattribute of an entity can be compasite consfraints: that.are based on
b. In i row of 4 relational table, an attribute w. superset key

can have more than one value G
cy
c. An attribute of an entily can have more ;
than one value c. key revisited
d In a row of a relational 1able, an attribute d None of these
can have exactly one value or a null value
40. One of the header fiekis in an IP datagram is.

35, Which of the following concurrency controls the Time to Live (TTL) Field. Which of the
protocols ensure both canflict serinlizability following statements best explains the need
and freedom from dead-lock? -of this field? '

L. Two phase locking a.. 1t caii be wsed to prioritive paciete
I. Time stamp ordernng ' '
o b 11 can be used to reduce delays
a. [only .
b lonly . It can be used to optimize throughput
e. Hoth land Il il It can he user ro prevent packet looping
d Neither | nor 1l
Space For Rough Work v
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41. An organization has a class B network and | 46. Which fanction may be used to send
wishes to form subnets for 64 departments. mt:aa:ageu to users requesting for Lext input
The subnet mask would be in a Javescript application ?
& 255.255.0.0 ‘8. Alert () b GetInput (]
h 255255.252.0 & PR () a4 Centiml)
c. 255.255,128.0
d 255.255.64.0
47.  Which method is used to specily a containers
Layout in JSP?
42, What does the port number in a TCP il
connection specify? a. Layout()
a. The quadity of d.ata transmitted b Centainer layout ()
b The quality of data connection ¢ ‘Set con layout {)
c. Communication process on the twn end . .
systems d Set lnyout ()
. The size of the data
48, In ASP, which function returns a Boolean
: g ot 1 ’ value that indicates whether n specified
43 :I;:Lr::? the natural mask of a clasa C ox ot can: b evaliaied s ks
a. 255,255.255.255 a. 18 Numberic { )
b 255.255.255.0 b 1S Number ()
255.255.0.0
d. ; d None of the above
44.  Which of the following provides relinble
communication? 49.  Address 192.5.48.2 belongs'to
%ok W, UbP a. Class'A b Clasa C
a IP d Al of the above
' ¢. Clnss B d ClassD
45,  Which one of the following allows o user af
onc site ta cstablish a connection to another | 50, Which one of the following uses the greatest
site und then pass keystrokes fram local host | - number of layers in the OS] model ?
to remote host?
n. DNS b TELNET # Reidge b “Rapratey
e HTTP d  FTP e Router d  Gateway
Space For Rough Work
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51.

52,

.

PART -2

|Each question carries two marks)

A medical treatment has a success rate of
0.8. Two patients will be treated with this
treatment. Assuming the results are
independent for the two patients, what is the
probability thal neither one of them will be
successfully cured?

a. 0.5 b 036

o 02 d 0.4

If you flip a coin 10 times, what is the
probability you will get exactly two heada?

h 09893
0.0008

a. 0.0107
e. 0.0439 d

The mé&an of ten numbers is 58. If one of the
aumbera is 40, what is the menn of the other
nine?

a. 11 bh &0

c. 162 <. 540

Which of the following statement is a
tautolooy?

a. ((=q)ap)ng

b (—gAap)a{pa-p)

S5,

36.

(25 X 2 = 50)

It 4 survey of 120 people, it was found that

65 read Newsweek mognzine

45 read Time

42 read Fortune

20 read both Newsweek and Time
25 reasl both Newsweek and Fortune
15 read both Time and Fortune

8 read all these magazines

Find the number of people who read exactly
one magazine

a. 45 h 25

c. 48 d 56

The In order and Pre order traversal of o
binary tree are

4,2,5,1:3,6,and 1,2,4,5,3,6

The Post order traversal of the binary tree is
a. 4,5,2,6,3.1 b 1,5,2,4.6.3
c. 456321 4 1,25643

Let G be connected undirected graph of 100

verticos and 300 edges. The weight of a

minimum spanning tree of G is 500, When
the weight of each edpe of G is increased by

_5, the weights of a minimum spanning Lree

becomes
d (~pag)a(N~tpag)) c. 1995 d 995
Space For Rough Work
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The recurrence relation capturing the
optimal time of the Tower of Hanoi problem
with n disk is-

a; T(n)=2T(n—-2)+2
W T(n)=20(n-1)+n
e Tn)=20(ni2)+1

d T(n)=2T(n=1)+I

359.  Write the Postfix expression form for the

given infin expression:
A+B*(C+D)/F+D*E

a. ABCD+*F /+DE*+

. AB+CD*F/+DE*

c. ABCD+*/F+DE*

d AB+CD*F/+D*E

The IPC of a program that exccutes 35000
instructione and requires 17000 cvcles to

complete is
B 2.00 b 206
e. L.00 d 106

62..

63.

Regular expression for all strings that starta
with a b and ends with bbais

a. aha® b* bba
b ab{ab)*bbg

c. abla+by*bba
d Al of the above

¥

Consider the following regular expression
a*(ub)? (abc)®
Which of the lollowing regular expression

denote the same language as the above
regular expression

a. (a+ab+abc)®

b a*(a+b)*(a+b+e)*

c. a¥(e+ab)* (@ +abe)®

d a*+{ab)*+(abc)®

Consider the following Finite siate

autormaton. The language accepted by this
automation is given by the regular

expression
Bl.  The simplificd SOP (Sum of Product) form of
' the Boolean expression :
b b oA b
(.-H-B?+C')-(A+H'+C)'[zl+H+C"] is =\ ) "
e 0) R 0%
a (4%B+CY) b (448 C) *
£ b’t 'hi bi- Hi h ",* ™
e, (A%84C) d  (A8+C) R e
: c. brala+ b)* . brab*ab*
Space For Rough Work
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655 Conaslder three processes | process id 0,1,2
Teapectively | with compute time bursts 2,4
and 8 time untts. All processes arrive al time
zero. Consider the longest remaining time
first (LRTF} Scheduling algorithm, In LRTF
ties @re broken by giving priority to the

processes with the lowsst pracess id. The:

average tum around time is:
a. 13 units. b, 14 units
¢. 15 units d. 16 units

66. A CPU generates 32-bit virtual addresses,
The page size ia 4KB. The processor has a
transintion look nside buffer (TLB} which can

hold & total of 128 page table entries end is’

4-way set associative. The mintmum size of

the TLB tag isr
a. 11bits b 13 biks
¢ 15 bits o 20 bits

67. Consider the following set of Processes, the
length of CPU burst time given in mill seconds

Process Burst tme
P, 6
Py o]
Py 7
Py 3

Aﬁsuming the above process is _l:t_ring,
scheduled with the SJF Scheduling
algorithm, the waiting time for P, is

n. 16 mis h  9ms

¢. 3ms d Oms

Consider the _fallﬁ'wing schedule for
transactions T,, Ty and Ty

1y 1 Ty
Rad () posqyy
Write (Y} Reaid (¥)
Write (X) Write (X)
Read (Y)
Write (X)

Which one of the schedules below is the
correct serialization of the above ?

g I, =T =T

S Y

e T—=E-1

d L-=2>T->T,

-Consider the following four schedules due 1o

three transactions using read and write on
data item x, denotecd by rix) and w{x) . Which
one of them is canflict serjalizable ?

e R{x) e w (o) Rx) wy(x)

b (e R0 w0 () wy(x)

c. rﬁ_(.x'}i u*:{;'l_rj_i. r{x)s r{xh wy(x)

d Al slx) qlx); wyxk wix) |

Space For Rough Work
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70. Consider the following Log Sequence of two | 72, Suppese the round trip propagation delay for
transactions on a bank account with imitial ‘a 10 Mbps cthernet having 48 - bit jamming
balance 12000. To transfer 2000 to a signal is 46.4 ms. The minimum frame size
mortgage payment and then apply a 5% fa:
interest.

: a. 94 b 416
1. T, start
: c. 464 d 512
2 T;Bold = 12000. new =10000
3TyMold=0 new = 200
y 73. . Usually, it takes 10 bits to represent one
4. T, Commit ' character. How many characlers can be
5. T, Start transmitted at a speed of 1200 bps?
6. Ty By ald = 10000 new = 10500 a. 10
7. Ty Commit h 12
Suppose the dalnbase system crashes just o 120
before log record 7 is written and when the
system is restarted, which one atatement is d  Nomne of the above
true of the recovery procedure?
e We Antat rede log record 6 to sct B 1o 74, Whal is the correct HTML for adding o
10500 background color?
b We must undo log record 6 to ser 13 1o a. < body colour=*yollow” »
1000 and then redo log recards 2 and 3
' b < body bgcolour = *yellow® > [
¢. We can apply redo and undo operations : I - ; :
in arbitrary order because they ure €. < background> < yellow </background >
IR Aeagen d < body background = *yellow" > 1
d We. need not redo log records 2 and 3 '
because transaction T1 has commitied
75. Setting the following properties for object in
ASP. Net results in
, R Response.Buffer = True Respanse.

7L In & token ring network the transmission Expires Absolute = wow {}.
speed jy H}f‘ bps nnd the propagation speed Subiract /New Time Span (1,0,0,0)
in 200 metres/ micro second. The 1- bit delay Response.Expires » 0 '
in this netwark is equivalent 1o Response.cache cantrol = *no cache”;

A, 300 watets o sable Which is the mast probable explanation

. ' . a. Avoid page to be cacl

b 20 metors of eable e e

b Clears the buffer area
e 50 Ineters of cable & The seasion expires
d 200 meters ol cable i None of the above
Space For Rough Work
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